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‘E-Banking’

Question Bank
1. A cheque dated subsequent to the date of its issue is
A. post dated cheque B. blank cheque
C. crossed cheque D. account payee cheque
ANSWER: A
2. A cheque date before the date of its issue is .
A. ante dated cheque B. full worth cheque
C. preemptive cheque D. worth cheque
ANSWER: A
3. A drawer can also be a :
A. Payee B. paymaster C. banker D. creditor
ANSWER: A
4. The rate at which RBI discounts approved bill of exchange is
A. bank rate B. interest rate C. exchange rate D. discount rate
ANSWER: D
5. headed the committee on Computerization in Indian banks (1988).
A. M. Narasimhan B. M.M. Shah C. M. Venkat Ram D. Raj Foster
ANSWER: A

6. The Word Bank has been derived from a Latin word which means
A. a bench for the keeping, lending and exchanging etc. of money.
B. an institution for meeting people.

C. place, where persons can relax

D. an institution for coordinating people
ANSWER: A

7. A company who accepts demand deposit is called

A. banking company B. joint stock company
C. manufacturing company D. IT company
ANSWER: A

8. The lien is

A. method to create charge over customer’s property
B. not used for respective customers account.

C. not used for loan

D. used for loan

ANSWER: A



9. One rupee notes bear the signature of

A. president of India

B. prime minister of India

C. governor of Reserve Bank of India

D. secretary, Ministry of finance (Government of India).

ANSWER: D

10. Small coin depot is the property of .

A. State bank of India B. Government of India

C. Reserve bank of India D. Indian bank.

ANSWER: B

11. A Banking company whose license is cancelled may appeal to the .
A. High court B. Supreme court

C. RBL D. Central government

ANSWER: D

12. Who controls credit in India?

A. Government of India. B. RBLI. C. SBI.

D. Indian bank

ANSWER: B

13. RBI grants for agricultural purposes .

A. only short term finance B. medium and long term finance.
C. short and medium-term finance only D. short, medium and long term finance
ANSWER: C

14. The apex institution in agricultural finance is :

A. NABARD B. EXIM bank C. RBI D. IDBI
ANSWER: A

15. Development banks are institutions which

A. give development loans B. provide emergency loans of banks
C. are subsidiaries of RBI D. provide term finance to industries
ANSWER: B

16. IFCI was established in .

A. 1947 B. 1948 C. 1951 D. 1956.
ANSWER: B

17. IFCI has its registered office in :

A. Bombay B. Madras C. New Delhi D. Calcutta
ANSWER: B

18. National industrial development corporation Ltd., was established in

A. 1954 B. 1955 C. 1956 D. 1964

ANSWER: A



19. LIC was set up in _
A. 1948 B. 1951 C. 1956 D. 1964

ANSWER: C

20. ICICI was incorporated in .

A. 1948 B. 1955 C. 1956 D. 1964
ANSWER: B

21. Negotiable instruments are defined under

A. Section 52 of the Banking regulation act, 1949

B. Section 25 of the Reserve bank of India act, 1934.
C. Section 13 of the Negotiable instruments act, 1881.
D. Section 14 of the companies act, 1956.

ANSWER: C

22. Who is primarily liable on a promissory note?

A. Holder B. Maker C. Drawee D. Endorser
ANSWER: B

23. A Cheque is always payableon .

A. demand B. a specified future date

C. the last day of the grace D. the will of the paying banker
ANSWER: A

24. A promissory note

A. can be drawn in sets B. cannot be drawn in sets

C. indemnity bond is also necessary D. indemnity bond is not necessary
ANSWER: B

25. In a promissory note the words or order are

A. necessary to insert B. not necessary to insert

C. not necessary but it is usual to insert D. necessary it is usual
ANSWER: C

26. Bill of exchange can be drawn payable

A. to bearer on demand B. either on demand or after a fixed time
C. to bearer in presence D. to bearer not in presence

ANSWER: B

27. Until a bill of exchange is accepted, primary liability there on is that of
A. Payee B. Drawee C. Drawer D. Acceptor
ANSWER: C

28. A bill of exchange is drawn for a maximum period of .

A. 90 days. B. 120 days C. 180 days D. 360 days

ANSWER: C



29. Expansion of HDFC .
A. Housing Development Finance Corporation

B. Housing Development Finance Company

C. Housing Development Finance Co-operative

D. Housing Development Finance Community

ANSWER: A

30. Negotiable gives to the transferee

A. the same title B. no title C. no better title D. better title
ANSWER: D

31. is a dead cheque.

A. Post dated cheque B. Stale cheque  C. Ante dated cheque  D. Pre dated cheque
ANSWER: B

32. RBI refers to .

A. Reserve Bank of India B. Revenue Bank of India.

C. Rupee Bank of India D. Regional Bank of India

ANSWER: A

33. Name the person to whom the amount of the cheque is payable?

A. Drawer B. Payee C. Drawee D. Acceptor
ANSWER: C

34. Which is a private bank?

A. SBI B. UTI C.10B D. Indian bank
ANSWER: B

35. The best suited deposit for trading community is

A. Savings deposit B. Current deposit C. Fixed deposit D.RD
ANSWER: B

36. A pledge can be made in respect of .

A. building B. shares C. motor car D. book debts
ANSWER: B

37. A collecting banker is given the statutory protection only when he acts as .
A. a holder B. an agent

C. a holder for value D. a holder in due course

ANSWER: D

38. The law of limitation applies to a saving deposit account from the date of
A. opening it B. closing it C. demanding it D. operating it
ANSWER: A

39. The most liquid asset is
A. gold B. bill of exchange C. government bonds  D. cash
ANSWER: D



40. According to IBA the maximum period for which fixed deposits can be obtained is

A. no limit B. 5 years C. 7 years D. 10 years

ANSWER: C

41. The right of set — off is nothing buta

A. right to sell B. right to retain  C. right to combine D. right to appropriate
ANSWER: C

42. Discounting of bills of exchange is

A. clean advance B. secured advance

C. neither clean advance nor secured advance. D. unsecured advance

ANSWER: C

43. Expansion of SWIFT is

A. Society for worldwide interbank financial telecommunication
B. Security for worldwide interbank financial telecommunication
C. Secured for worldwide interbank financial telecommunication
D. Safety for worldwide interbank financial telecommunication.

ANSWER: A

44, Expansion of NEFT

A. National Electronic Fund Transfer B. Neutral Electronic Fund Transfer
C. Nominal Electronic Fund Transfer D. Natural Electronic Fund Transfer
ANSWER: A

45. Expansion of EFT

A. Electronic Fund Transfer B. Economic Fund Transfer

C. European Fund Transfer D. Electric Fund Transfer
ANSWER: A

46. RTGS system works days in a year

A.365 B. 362 C. 300 D. 305

ANSWER: B

47. KYC means B

A. know your customer B. know your creditor

C. know your cost D. know your card

ANSWER: A

48. The first bank in India to be given an ISO certificate .

A. Canara bank B. SBI C. central bank of India D. Indian bank
ANSWER: A

49. The first Indian bank to open branch outside India

A. Bank of India B. Allahabad bank. C. south Indian bank D. Indian bank

ANSWER: A



50. RTGS means .
A. Real Time Gross Settlement B. Real Turn Gross Settlement

C. Real Technique Gross Settlement D. Real towards Gross Settlement
ANSWER: A

51. The committee was set up to study bank computerization under

A. Dr. C Rangarajan B. Dr. C. Ragavendra

C. Dr. C. Raja Rajan D. Dr. C. Ramachandran

ANSWER: A

52. In which system computers are based on the centralized processing concept?
A. Multi-user computer networking B. Stand-alone computer networking
C. Processing computer system D. Frame computer system
ANSWER: A

53. Customer interface is maximum at the level.

A. zonal B. branch C. head office D. state office
ANSWER: A

54. The head office of a bank is responsible for

A. only Bank-level planning

B. only Bank-level planning, control functions

C. bank-level planning, control functions and policy decision
D. only services to the branches

ANSWER: C

55. Core banking is a branch computerization model.

A. decentralized B. centralized C. unified D. ATM
ANSWER: A

56. The objective of computerization in India is to

A. replace men with machines B. make the work-life more meaningful
C. control the manpower D. control the economy
ANSWER: A

57. ATMs are primarily used for performing the functions.

A. infrastructure B. computer-based C. banking D. hospitalized
ANSWER: C

58. In the early 1990s, which type of ATMs makes their appearance in India?
A. Multi-user ATM B. Network ATM

C. Branch ATM D. Stand-alone ATMs

ANSWER: D

59. Expansion of ECS -

A. Electronic Clearing system B. Electronic centered system.

C. Electronic cross systems D. Electronic conversion systems.
ANSWER: A

60. EFT is introduced by

A. IRDA B. RBI. C. SEBI D. NSE

ANSWER: B



61. How many public sector banks have EFT facility available?

A. 27 B. 32 C.28 D. 30
ANSWER: A

62. How many scheduled commercial banks have EFT facility available?
A. 35 B. 45 C.55 D. 65
ANSWER: C

63. How many centers have EFT facility available?

A. 15 centers B. 14 centers. C. 13 centers. D. 12 centers
ANSWER: A

64. Any EFT limit on the amount of individual transaction?

A. No limit B. Rs. 5,00,000  C. Rs. 50,00,000 D.Rs. 25,00,000
ANSWER: A

65. is a technology that allows you to access your bank account from a mobile
device.

A. Home banking B. Mobile banking C. Internet banking.  D. Television banking
ANSWER: B
66. Which has been made possible by the application of information technology?

A. Date mining  B. Date warehousing C. Databases D. Support systems
ANSWER: B
67. is a technique to reveal the strategic information hidden in the data warehouses.

A. Data mining.  B. Data warehousing C. Data bases D. Support systems
ANSWER: A

68. is the demographic information about customers to help banks focus on
particular segments

A. Date mining  B. Date warehousing C. Data analysis  D. Support systems
ANSWER: C

69. is to analyze the performance of a set of securities and fundamental data
of the companies that issue the securities.

A. Date mining B. Date warehousing

C. Data analysis D. Stock portfolio creation and analysis.

ANSWER: C

70. Who recommended the RBI to establish a data warehouse on banking and finance?

A. Dr. Rangarajan B. M.M. Shah C. M. Venkat Ram D. Vasudevan
ANSWER: D

71. The universal set of standards for EDI is known as :

A. EDIFACT B. EDI. C.ISO D. BIS

ANSWER: A

72. Communication technology :

A. facilitates the processing of data B. helps in transmission of data

C. enables decision support system D. is a tool for data mining
ANSWER: B

73. Which of the following is the gateway in India EDI services worldwide?

A. Satyam online B. BSNL. C. MTNL D. VSNL.

ANSWER: D



74. When SHIFT network was came to India?

A. December 2, 1991 B. December 1, 1991

C. December 3, 1991 D. December 4, 1991

ANSWER: A

75. How many standard message categories in SWIFT?

A. 10 types B. 9 types C. 8 types D. 7 types
ANSWER: B

76. The banking operations are carried through a single banking office is
A. branch banking B. unit banking

C. commercial banking D. universal banking

ANSWER: B

77. The banking operations are carried through a network of branches are called .
A. branch banking B. unit banking.

C. commercial banking D. universal banking

ANSWER: A

78. The banking which attracts deposits and lending for only short periods is known as

A. commercial banking B. unit banking

C. branch banking D. development banking
ANSWER: A

79. Deposit banking is also called as .

A. commercial banking B. unit banking

C. branch banking D. development banking
ANSWER: A

80. In India every scheduled bank has to maintain with RBI a cash balance equivalent of all
the deposit liabilities called as

A. open market ratio B. cash reserve ratio

C. bank reserve ratio D. credit reserve ratio

ANSWER: B

81. During 1969, how many banks were nationalized?

A. 15 B. 14 C.16 D. 17
ANSWER: A

82. During 1980, how many banks were nationalized?

A7 B. 6 C.5 D. 8
ANSWER: B

83. The acts as an agent of the RBI.

A. SBI B. ICICI C.I1IOB D. HDFC
ANSWER: B

84. Which committee recommended the establishment of private sector banks in India?
A. Dr. Rangarajan committee. B. Narashimham committee
C. Rajendran committee. D. Govindarajan committee.
ANSWER: A

85. RBI was set up in the year :
A. 1935 B. 1934 C. 1933 D. 1932 ANSWER: A



86. has been constituted as a corporate body having perpetual succession and a
common seal.

A. RBI B. ICICI C. HDFC D.IOB

ANSWER: A

87. The Indian is the market in which short term funds are borrowed and lent.
A. Money market B. Open market C. Closed market D. Credit market
ANSWER: A

88. Where did bill market first developed?

A. USA B. London C. France D. Italy

ANSWER: B

89. The obligation of a banker to honour his customers cheque is extinguished on receipt of
an order of the court, known as the

A. garnishee order B. bank order C. RBI order D. debtor order
ANSWER: A

90. A Garnishee order is an order issued by :

A. Income tax officer  B. official liquidator C. court D. RBI
ANSWER: C

91. The deposit with the bank for a fixed period which is specified at the time of making the
deposit is called

A. saving deposit B. current deposit C. bank deposit  D. fixed deposit
ANSWER: D

92. The minimum period for which a commercial bank can accept term depositis .
A. 7 days B. 15 days C. 30 days D. 60 days

ANSWER: A

93. Interest on fixed deposits is compounded .

A. monthly B. quarterly C. half yearly D. yearly basis
ANSWER: B

94. A banker should not stop operation of the account if the customer

A. dies B. becomes insolvent

C. changes his business premises D. becomes insane

ANSWER: C

95. . Floating rate of interest is the rate which is :

A. . decided by the bank arbitrarily B. linked with another relevant rate.
C. fixed by the Indian banks association D. notified by the reserve bank of India.
ANSWER: B

96. MICR refers to

A. Magnetic Ink Character Recognition
B. . Magnetic Ink Company Recognition
C. Magnetic Ink Cross Recognition.

D. Magnetic Ink Community Recognition.
ANSWER: A



97. If the endorser signs his name only the endorsement is said to be
A. endorsement in blank

B. endorsement in full

C. conditional endorsement

D. restricted endorsement

ANSWER: B

98. A cheque with Not negotiable crossing :

A. cannot be negotiated

B. can be negotiated and the endorsee title is not affected in any case.
C. can be negotiated but the holder of the cheque will not have title better than that of the
person from whom he took it.

D. is always deemed as crossed specially

ANSWER: C

99. Who can cancel the crossing on a cheque?

A. The payee.

B. The paying banker.

C. The endorser.

D. The drawer.

ANSWER: D

100. Which is not possible for the payee of a cheque?

A. To convert a bearer cheque into an order cheque.

B. . To convert an open cheque into a crossed cheque.

C. To convert general crossing into special crossing

D. To make a specially crossed cheque into generally crossed cheque.
ANSWER: D
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65. B Ueh AR AT A JrEFT WIS el fSeeTgaas quel deh T T shiugTet OeaTit .

A. B SR B. WSt s Rt C. 3EAT Sk, D. ZEIA AR I



66. AT TATTSAT STURTH S5 ThIUTH IR STTeT 3TTE?

A. TR @F B. A@ e C. 32ed D. FHL JUTTeAT IO &t

67. 2 T AAETHARL ATqNAT SO HTfgeT ST HIATS dF AT,

A. TTTHEIET, B. 32T ASRER /T C.3aTs| D. "ure foredm I U

68. B UTEhRTaEeTe cliehH TATITET AR 2118 St sentT fafde frvmriar erer higa smuama wad
A. TR @F B. AR@T MeE™ C. e frsgwor D. FHL JUTTeAT IO ©

69. TR Frerg fedtsrea wreareat iR omfor ferery et ST sheuTT=ar shu=aeaT g Sere
forspwror sHwor.

A. @ T B. AR METH

C. o1 fasgwor D. ¥k Trethiferatt ffidt srfor fasgwor,

I |l

70. RBI ST S(TeRTT 3TTUT B0 o 32T AT TATU HIUI T {ITRRE hivt Shef?

A. BT, TR B. M.M. 38 C. M. She T0 D. IS IS

71. EDI 9Tt ATk AT @9 TEU[T SSEeT AT,

A. EDIFACT B. EDL C.1SO D. BIS IW: T

72. GUNUT AAAH .

A. STt TThaT §oTT ohid B. STT THTRUT HIVATH HEd hid

C. Frota o ToTTet wam D. 22T A TS Tk TUT AT

I

73. STRTATET HRATA o1 SEIAT Tl WTeA IeTieh! ShIUTd Td ATE?

A. T ATATST B. BSNL. C. MTNL D. VSNL. L)

74. SHIFT A2aeh WRATA helt 3TeA?
A. 2 fT8= 1991 B. 1 fs8= 1991 C. 3 T@aw 93%¢ D. ¥ fe8aw 93¢ I T
75. SWIFT W fehet HTeR @91 AU 3mea?

A. 10 IR B. 9 TR C. 8 TR D. 7 9K I T
76. ST HTHERTST T T T & (kT SHTATAATHTER A ST,

A. TG SfehT B. gfedtaT C. A dfht D, ghegdar afer swwe
77. SR AT IMETSAT AEThEN ATATATATATT _ TgUTdTd.

A. TG SfehT B. gfe st C. waasw afht D, ghegda dafhr sww U
78. Wk 3TCY hTATIETHTET ST STTTOT ohs STTeh A hTUTIY S fehTT TRUIA BT AT

A. AT dfhT B, e st C. YT TR D. foemma st ST
79. ST AfehTeAT _ STAET TgUTATA.

A. TR dfhT B, e st C. YT ekt D. foemma st ST

80. TRATA Teiieh WSITE ekl RBI e AT FE 3 ETfiea =T auged U Biecte TEdt ariew
A. GeT SRS SHT0T B. i@ UEa yHIOT  C. Jk TR I@0T D shfge Uefia ywt0r
It

81. 1969 W& TRt SfehTor TSI TRTUT SHITATA STTA?

A. 15 B. 14 C.16 D. 17 ST
82. 1980 W& TRt SfehTor TSI TRTUT SHITATA STTA?

A.7 B. 6 C.5 D. 8 AL ot
83. ¥ RBI ¥ TSI Z TEUIH ShTH ST

A. SBI B. ICICI C.10B D. HDFC S &t

84. WRATA WISTT AT TeT SlehTedT TATT-= T BTRERE SHivreaT v Heit?
A, U gy €. B. Wivmes afudt C. Ui af. D. Mfete aftda I T



85. RBI ST TaTqaT ey TATeAl.

A. 1935 B. 1934 C. 1933 D. 1932 I A
86. =t TATIAT HTIHETEUT TR AT AT TTeFehT SFHIT ShT RS EEAT TEUT hUATd ATeAT AT
A. RBI B. ICICI C. HDFC D. 10 I T
87. AT T 19fl ITTRUS ST TITHEY 3769 YEd ol e ot el SITATd SATIOT Shat (oot TaTd.

A. 5T IR B. GET N C. 98 IR D. Ud TR 3T
88. foret Ao e s fores e sTeT?

A. USA B. @& C. e D. 3eeAT ELEeci]
89. TEUA SBEEAT ATUTT AT TSI HBTEATaR Sehtel TTeaT ATEehT 24T SATS9TTaT {7 T

FHUITE FATTERT AT Ad

A. T SHTER B. Sk 31X C. RBI 37X D. G AT I T
90. YT AT ET N A helTeT TS AR,

A. TR ATTRRT  B. 31t iz C. & D. RBI I |l
91. Sehd TR HIATINHTST STATATSAAT _ TEUTATA.

A. TIA 8T B. 9T 39 C.dh 3T D. §&d ¢a S E
92, feRTT ShTeTTare ST SHTaATHIh ek Yo oo T IehT& ehd __ 3TTE.

A. 7 fEaa B. 15 fga® C. 30 fG==m D. 60 == I T
93. gaq Siaiiet ST wshale 3TTE.

A. wifereR B. TR C. TgTEY D. ITf¥eh STTeRTER En L)
94. UTEH ____ HCATH Sehid Tt SO aiaeq 3.

A. TEaT B. fRame@R gt C. TIT=AT SFEEETe URER dgetal D, JgTger 36 |t
QY. STATEIT FATTET & BT TR,

U, ik T ot ataer B. 3E=AT AETA G ATl

C. WA sk Toe fafara et D. WRe fizteg e arferg fera sher aTmR.

I S

96. MICR AT EEH I

A. GIHT I T0T A T, AT IS AT 3BT

C. GIhIT VT hid 3B, D. YA ITE I 5™

I T

97. TR STHIEHT I TAT TTATER TATERY hefl X hdes aHe AT TgTe AT,

A.TeHAed srgwigT B. YUT @A, C. TvTd THeT D. ufersifera g IO ot

98. ARTITCATA ShifHT__ TE Ieh.

A. TTCTITET AT A ATE T

B. STETHATEY el ST ITehd ATIUT THei Fideh iuTeamel wRkfterdta TwTfera 21T aTe,

C. AETATET AT TS ITehe UG ST TRERTAT I TIT SATRIHGA Al UaeAT e Ta el el Ii19eh STEUTR TTel
D. ¥ gt fo9y shie Sheted Ul ST

E ekl
99, Tha TRITHTT ShHIUT TE THE ITehd?
A. 9% JuTmT. B. U JUTIT R, C. STHIEH, D. $&R. ¢

100. ek LUTTATEAT <h [UTAT ITRT ATET?

A. FHT THAT HATSH TR TUTANT FUITATSL

B. 371U ekl ThiTE IR TUTAT HIVIATATST,

C. AT ShfETTer forore shifiedr ®uTaw sior

D. AT Shid theledT dehH el o shild SheteTT <ieh S, I St




